as | e Fli= A= 1T
) L
Fufune
L B\9 ) = 5 value
E;{Q}hf/ez [ouc/ A ne Cav” fru:’"{—é!

5 %% A PR  Finayc Ihﬂﬁ’ (acmﬂ/ Md-a,"fé/)/ quw.c-’fﬂtf>

$20000 =PU -~ (oult| (oF i (G il
e

w&seq?l = fé )
Va f e

@ t:O - /60‘5""‘ accounT bdi(czwc:ei /V": %%

AﬁP\/
ﬁzi o D) Mu/ﬁ‘ﬁ// A b/ (H‘%ﬁ)

C\—
(1+0) =(4E2)

@ Sebfract FMT from A
A=pPV(jsi) —PmT



L=2 .

‘" A :(PVOH) - FMTB((»H)J——PM'F
= 2+

A = PVClaeT — PR =M T

t= Ts'ij A ”:(PV(("’E)(L,,FMT(HOHFMT’)CL‘»[)——}WT
A = PP~ pu () =PHT( L+ )-PT

PRI O . T O

Iz
£ *P/WT(U) o
L&sf)— FQ)IMQM’/‘
w wnths = P/"\T( (+) %
Pria f')DMT([H)
- _pmT
5 Ve
F yapur =
0= PY(1si)*==FV

V= Py Clen)”

Slc’u = ’
i | n= 72 (6 )’Ed:V}’:'?‘z "wan)



Pi="280e0 LR, T EeT R

LEV=PV(le) =26, 950.36
(L=l )=Fv

C

PUT = FV—b—
L’ﬁ/}_—J F ((*L)M —
M-Dn’f'hk

o

pay wes

E@I&‘(ﬁd&/ Fm’m%/q,f;

= TE A DR e A 4

oL
PMT——L* ; i~ = PV & —o
L




o |
F T(( ([ ) > = )7\/:%[55)021,8’6

PmT K (1= (It r/_uz)"‘ —),/(v/12)

o= ey = PV = fﬁ]??ﬁ}g?[{G’S
i 39% =) PV =

ﬁ|)% B 27

H[/{/: @ £ jouy Al ﬁlOO/SZ'O house
with 2« 30 =il & « APR)
M&r’rﬁ—qu) Jw.._/// L %%OOO quw PQ;’MEQ’!;
wﬁwz'f‘ v 18 ’\%L Wa‘l%f)/ mor”f?q%@ pa)/wé:ﬂ'?

@ Hau JmucL; 6’{~‘JG§ & (O-'*’/é?dr

gwﬂut‘+7/ ﬁa’{' Pa}/s ﬂ?()() e v
moafh Pl i r= 3. 5% ?

W&lq% ‘5 %ﬂi Wlon'fé){ =
paymenl  for 4 23009 o
a1 £ APR  over B |2 yeas |

f{‘{z.‘g ’f o, € L;C@Vc.(rf;@“? (FUL 3 — (_/L'

Gg't— MO ‘OV“ <



